

# **COMMISIONING PROJECTS MADE EASY**

















# **About Us**

### **Sethi Engineerig Products**

Founded in the year 1981 by Mr. Surinder Sethi, Sethi Engineering Products (SEP) Today is one of the leaders in civil work execution and suppliers of industrial products in punjab region.

Industries face problems of sourcing quality products at affordable rates and on time delivery is a main issue in various projects. But we at SEP revert to your requirements within 12 hours and deliver products on site within very less time.

### **Road Construction Works**

- Road construction include- WBM works
- Interlock tile roads
- CC ROADS
- Road Safety Furniture.
- Civil Foudation Works.













# Structural Steel Suppliers

- 1. MS ANGLE (ISA)
- 2. MS CHANNEL (ISMC)
- 3. DIFFRENT SIZE OF BEAMS
- 4. MS PIPES
- We procure material from known brandslike:- SAIL, JSW, JINDAL STAR, KAMDHENU AND TATA STEEL

  And supply according to the needs of client.







### **FABRICATED PRODUCTS**

- a) GRATINGS
- b) STRUCTURAL STEEL FABRICATION
- c) CUSTOMISED SHUTTERINGS
- d) RAILINGS
- d) BARRICATION BOARDS













### Foundation Bolts,U Bolts







## **Pipes & Fittings**

- We Supply all kinds of valves, bends, Tees, Unions,
- **We Source** material from known brands like L&T Valves Flowserve (AUDCO), Unik, Kartar etc.
- **We Have** inhouse facility to manufacture customised flanges and clamps.

### **INSTALLATION** Of Pipe Fittings







#### WORK ORDER

Larsen & Toubro Limited, Construction

PB No 979, Mount-Poonamallee Road, Manapakkam, Chennai - 600089, Tamil Nadu, India CIN - 199999MH1946PLC004768 Tel No. 04422526009 Website: https://eip4.intecc.com

ORDER NO. : LE/LE20M034/WOD/22/000049 WO DATE : 07-Oct-2022

LATEST AMENDMENT : 0 AMENDMENT DATE : ---

VALUE : 25,978,418.86 INR

Order Essentials Vendor Details Job : LE20M034 - Patiala WSP Name : V0079776 - SETHI ENGINEERING PRODUCTS Payment Centre : SZ000010 - Shared Services Centre - Accounting Center KSM Road, Rajpura town, Rajpura, Patiala, Rajpura Туре : Regular Labour With Materials Service Group : Revenue State : Punjab WO Period : 01-Aug-2022 to 13-Oct-2023 Country : India RFQ Ref. No. : LE/LE20M034/RFQ/22/000220 Phone Email LD Clause : Not Applicable : bhavyamsethi83@gmail.com GTC BQ Ref. No. Last Bill Number : 7 WO Accepted By : ---Bill Type : Running Bill WO Accepted On : ---

Statutory Details

Vendor GST : Job GST : 03AAACL0140P1ZT Job PAN : AAACL0140P Vendor PAN : AADFS4409G

Billing To Execution At

Near 10 MLD STP, GURUDWARA ROAD Near 10 MLD STP, GURUDWARA ROAD ABLOWAL ABLOWAL

Patiala-396230 Patiala,396230 CIN-L99999MH1946PLC004768 CIN-L99999MH1946PLC004768

Nature of Scope

Paver Block Works Sethi

#### Refer Annexure Details

Item Abstract - Cost Package/WBS Details, Delivery Schedule, Itemwise Tax Details, Material Link, Additional Terms & Conditions

Larsen & Toubro Limited, Construction

PB No 979, Mount-Poonamallee Road, Manapakkam, Chennai - 600089, Tamil Nadu, India CIN - L99999MH1946PLC004768 Tel No. 044-22520009 Fax No. 044-2252009

WORK ORDER

ORDER NO. : LE/LE20M034/WOD/22/000049 WO DATE : 07-Oct-2022 LATEST AMENDMENT : 0

AMENDMENT DATE VALUE STATUS

: 25,978,418.86 INR Authorized

Itor			

Description - Code	Quantity	UOM	Rate	Tax	Total Value
SCOPE - Shing of concrete pawer blocks; GRADE - M-83, THICKNESS - 60 mm; SCOPE (NEUDES - Levelling, Seconding; Work Categorization - Charges for Specialized contract inclusive of Materials, Labour 5 froot / P&M, Construction - Charges for Specialized contract inclusive of Materials, Labour 5 froot / P&M, Construction services of commercial buildings such as office buildings, exhibition of marriage halls, malls, hortels, restaurants, airports, rail or road terminals, parking garages, petrol and service stations, therefore such dependent of the contraction of	60,816.600	Square metre	92.00	1,007,122.90	6,602,250.10
SCOPE - Laying of dry lean concrete (DLC). Work Categorization: Charges for Specialized contract inclusive of Materials, Labour & Tools / P&M: Tools / P&M: (Soc. 1816 - Construction services of commercial buildings such as (SAC. 1816 - Construction services of commercial buildings such as (SAC. 1816 - Construction services of commercial buildings such as inclusion). The construction and service stations, theatres and other similar bilds, - Construction and service stations, theatres and other similar bilds, - Construction & marriage halls, malls, hotels, restaurants, airports, rail or road terminals, parking garages, perton al exervice stations, theatres and other similar buildings - 188 - Construction services of commercial buildings such as office studients, exhaus office studients, exhaustion is marriage halls, malls, butter, construction services of commercial buildings such as office buildings, exhaustion a marriage halls, malls, particular buildings and soft soft suildings, exhaustion a marriage halls, malls, perton and service stations, theatres and other similar bildig 999514	6,081.660	Cubic metre	2,700.00	2,955,686.76	19,376,168.74

In Words : Two Crore, Fifty-Nine Lakh, Seventy-Eight Thousand, Four Hundred Eighteen Indian rupee and Eighty-Six Paise Grand Total

#### Payment Terms

1 100.00% of Bill Value Payment Against Execution after receiving (0.00%). Payment will be made through NEFT, with 0 days of credit from Bill Date after receiving Invoice

#### Defect Liability Period

Doroct Elability I criou		
DLP Period	Duration	Events
3	Months	On Completion

#### Essentials Details

Tag	Description
Order Expiry Date	13-Oct-2023
Privileged Vendor	Not Applicable

Report Generated at 5-Sep-2023 4:24:02 PM Page 2 of 12 EIP © 2023 L&T Construction. All rights reserved Save Paper ! Save Trees !! - View WorkOrder digitally..!!!

Report Generated at 5-Sep-2023 4:24:01 PM

Page 1 of 12

EIP © 2023 L&T Construction. All rights reserved

\*Save Paper ! Save Trees !! - View WorkOrder digitally..!!!

### PURCHASE ORDER

	Invoice To		Voucher No.			ited	
-	OFFSHORE INFRASTRUCTURES	LIMITED	OIL/PP/PB/3	223/31		Feb-23	
١	Ward No. 8, N.K Wali Gali, Peerkhana Road, F	Raman Mandi,	,		Mo	de/Tern	ns of Payment
ı	Delivering Endlessly Talwandi Saboo, Dist Bathin	da					Interest Vendor A/c
	GSTIN/UIN: 03AAACO1012		Reference No	. & Date.	Ot	her Refe	rences
	State Name : Punjab, Code	: 03	OIL/PP/PB/3			prove	
Сс	ensignee (Ship to)		Dispatched th	rough	De	stination	ı
	fshore Infrastructures Limited (3223)		By Road		Bł	natinda	
Ta An GS	ard No. 8, N.K Wali Gali, Peerkhana Road, Rami diwandi Saboo, Dist Bathinda loop Singh - 8146336426 STIN/UIN : 03AAACO1012F1ZE ate Name : Punjab, Code : 03	in Mandi,	Terms of Deliv	,			
Su	pplier (Bill from)						
R/ GS	4,KSM ROAD RAJPURA TOWN AJPURA, Punjab, India, 140401 STIN/UIN: 03AADFS4409G1ZK ate Name: Punjab, Code: 03						
SI No.	Description of Services	Due o	on Quantity	Rate	per	Disc. %	Amount
1	Supply of Structre Steel As Per Annexure-1	1-Feb-	-23 1.00 LUMPSUM	83,68,009.00	LUMPSUM		83,68,009.0
	Taxes extra as applicabl	e					
	Tota	al	1.00 LUMPSUM				₹ 83,68,009.

This is a Computer Generated Document

SI No.	Description	Uom	Required Qty	unit rate	4-4-1	
IS 2062 E250 BR		Uom	Required Qty	unit rate	total price	
1	08 Thk Plate	MT	2.5	67600	169000.00	
2	10 Thk Plate	MT	1.28	67600	86528.00	
3	12 Thk Plate	MT	16.13	68200	1100066.00	
4	16 Thk Plate	MT	12.67	68200	864094.00	
5	ISMB-200	MT	1.45	66600	96570.00	
6	ISMB-300	MT	11.36	67800	770208.00	
7	ISMC-100X50	MT	14.42	68000	980560.00	
8	ISMC-125X65	MT	6.47	68000	439960.00	
9	ISMC-150X75	MT	28.42	67600	1921192.00	
10	ISMC-200X75	MT	2.45	67100	164395.00	
11	ISA-90X90X6	MT	0.98	68800	67424.00	
12	ISA-100X100X8	MT	2.18	68600	149548.00	
13	ISA-110X110X8	MT	0.64	70100	44864.00	
14	ISMC-100X50	MT	0.8	68000	54400.00	
15	SHS-150X150X8	MT	19	76800	1459200.00	
	Total Quantity		120.7	5	8368009.00	





SETHI ENGINEERING PRODUCTS K-4,KSM ROAD, RAJPURA TOWN ,PUNJAB PIN-140401

+91-9780964381 bhavyamsethi83@gmail.com